G. Revision

(@)
(d)

2. Change to kilograms.

(@) 4000g
(d) = 3250g
3. Work out.
(@ 2kg 300g
+ 3kg 450¢g
(d) 4kg 300g
+ 7kg 650 g

4. Work out :

(a) 3kg 550¢g
- 1kg 300g
5. Work out :
(@ 3kg 700g
X 4

(b) 13, kg
1

() 37 kg

(b) 2200g

(€) 2750g

(b) 1kg 150 g

+ 7kg 300g

(e) 17 kg 850¢

+ 13 kg 650g

(b) 10kg 250g

— 3kg 900¢g

(b) 7kg 625¢

x5
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M 6= kg
(c) 5010¢g
fH 75009

(©) 12kg 220g

+ 18kg 490 g

) 59 kg 750 g

+ 46 kg 500 g

(c) 4kg 725¢g

— 1kg 850¢g

(¢ 13kg 225¢g

X8




G. Revision

10.

Work out :

@) 4I4k9900 (b) 6‘13ngOg ©) 5|?kg

An empty container weighs 325 kg. Calculate the weight of 7 such containers.

Vishnu has 5 kg 200 g of nuts. He gives 2 kg 100 g to his brother and 1 kg 250 g
to his sister. What weight of nuts has he left?

Ali weighs 17 kg 450 g and Pierre weighs 19 kg 650 g.
What is their total weight?

7 chairs together weigh 38 kg 150 g. Find the weight of one such chair.



